SRR

354,000

=& 29(3) - HRAE - B of v e HIDE2
226,331,822 240,733,248 14,401,426
= 14,406,140
[ 3,044,160
Jl 165,226,560
[ 43,654,962
FMA(sgaerit/5 - &) 190,287,322 209,621,564 A19,334,242
= 2,106,140
s 3,044,160
Il 165,226,560
== 19,910,462
ded3sy |4 7,201,992 19,496,730 A12,204,738
= 300,000
= 3,044,160
) 1,550,440
S 2,307,392
detdsy dob-Ots - 1S JlE 25 377,400 428,900 51,500
202 04| 5,000 6,000 21,000
01 2L A LI 5,000 6,000 A1,000
Ozlgtdsg S8EF =2 5,000
308 XXM SOIA 50,400 50,400
01 AXEH B2 LS 50,400 50,400
delsssts 23N X3 50,400
SHSIH=0lA 322,000 372,500 250,500
SHH=EX 322,000 372,500 /50,500
dsdts Jis - 73018 =4 252,000
2 Edsdts dOAE X3 70,000
gdst A& 165,820 205,520 A\39,700
308 AHXIHMSO0IA 165,820 205,520 A39,700
HISEES 165,820 205,520 A39,700
Ozlgd s =2 10,000
OzletEsdtE ASEAY| 97,020
OR=s% AL A=M A 58,800
M XNA(=1) 3,177,000 3,955,397 AT78,397
[ 2,823,000
= 354,000
SIES{URS 3,177,000 3,955,397 AT78,397
[ 2,823,000
= 364,000
HE3dE2xS 3,177,000 3,955,397 ATT78,397
H X2 3,177,000
2,823,000




FA HetE sy
A ASNSAMRND(SYHYSL /52 - 55)
el Edsy =4 (SH9 M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
=R E(20) 1,550,440 1,294,470 255,970
Jl 1,550,440
308 AFAIEHMSOIE 1,550,440 1,294,470 255,970
7l 1,550,440
01 XN BSELES 1,550,440 1,294,470 255,970
ozB=sg HNE A=A 1,880,440
) 1,550,440
SI=LXM X (=1) 319,332 319,332 0
= 221,160
< 98,172
308 AXIHSOIA 319,332 319,332 0
[ 221,160
= 98,172
01 HASHHBSEEXS 319,332 319,332 0
SIS X2 319,332
[ 221,160
= 98,172
sSYEFEMOI= (3 0) 390,000 585,000 195,000
= 300,000
== 90,000
308 AHXIEMSOIH 390,000 585,000 195,000
= 300,000
[ 90,000
01 HRHHBSEEXS 390,000 585,000 195,000
Osgaagdaz 390,000
= 300,000
= 90,000
SIIZHIE XA (HEALL) 1,222,000 1,222,000 0
308 XXM SOIA 1,222,000 1,222,000
01 AXEH B2 LS 1,222,000 1,222,000
ORJIEHIE X (HE) 1,222,000
aar ZHH 25 162,012,925 170,509,300 A\8,49%6,375
= 64,300
7 160,224,120
= 1,724,505
NSEH A 1,565,275 1,533,140 22,135
202 04l 4,000 6,000 22,000
01 2LHo4H 4,000 6,000 /2,000
ORAd AR =8 4,000
307 el2tol & 30,000 30,000
04 CIZHHAMAMH 2 & 30,000 30,000
oza# 2 OBE X& 30,000
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FA HetE sy
A ARNSAYRN D (SYHYSL /52 - 5E)
e Aoy 3WH LS (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
7l 566,800
202 048l 3,500 9,000 A5,500
Il 3,500
01 2LHoIH 3,500 9,000 A5,500
OSAH=EM ArEFA 3,500
Jl 3,500
308 XIXIEMSO0IE 553,300 504,500 48,800
Il 553,300
01 HAHHBSEXS 553,300 504,500 48,800
OsM=HM &5Hl XA 563,300
Il 553,300
SUXNES ELB A XE(=1) 107,320 52,220 55,100
) 107,320
308 XXM SOIA 107,320 52,220 55,100
Jl 107,320
01 HAHHBHEXRS 107,320 52,220 55,100
OB =s EAZAHl X 107,320
Jl 107,320
SAR=ES(=1) 169,064,000 165,931,000 26,877,000
Jl 169,064,000
308 XXM SOIA 169,064,000 165,931,000 26,877,000
Jl 159,054,000
01 XN EES 169,064,000 165,931,000 26,877,000
OJI28 sAX=E= 169,054,000
Jl 159,054,000
MEHA =& T2 AlEAIE(21) 506,000 0 506,000
Il 506,000
308 AHXIEMSOIE 506,000 0 506,000
Jl 506,000
01 AXEH B E LS 506,000 0 506,000
OMEA S8 T2 AlEAY 506,000
Jl 506,000
S O (RIAEXH) 165,630 165,630
308 XM SOIE 165,630 165,630
01 AXEHBEES 165,630 165,630
OFES orZ Y 165,630
EAE Mg &Y 16,220,477 13,148,984 3,071,493
= 100,000
Il 3,452,000
= 12,668,477
FIA OIS €52 383 M2 1,209,113 1,330,422 121,309
202 04| 4,000 3,672 328
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FA HetE sy
B AYRSHAMM D (SN /5 - B5E)
celr =S dabet x4 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 2LHoIH 4,000 3,672 328
OFTAlIS &&= Z2ds =4 4,000
308 AHXIEMSOIE 1,200,613 1,326,750 N126,137
01 HRHHBAEES 1,200,613 1,326,750 A126,137
ZAZHEHE A ZS KA 218,863
(O SR PNDNEN RS 36,750
Olg=sYel s&HAUH| X2 315,000
Od=old €328 X& 600,000
©L1-10F & gdat 30,000
403 MR EHSAHE01H 4,500 4,500
01 MHXIHHA 222 4,500 4,500
OZ3 A FAHK| B8 4,500
WNZA HEEX 54 K& 30,000 42,000 A12,000
403 AXIEHMS X201 30,000 42,000 212,000
01 AXISHHA=2EE 30,000 42,000 A12,000
OMZA HEHA =4 X2 30,000
&= 833 117,500 80,000 37,500
308 AXIHSOIA 40,000 30,000 10,000
01 XN BSEES 40,000 30,000 10,000
oZ2&= 82 IPIE XN 40,000
403 MR EHSAHE01H 77,500 50,000 27,500
01 MHXIHH A 222 77,500 50,000 27,500
Z34Y I8t 24 77,500
sMH=A(ZHAE ) 2,308,800 2,308,800
308 AFAIEHMSOIH 2,308,800 2,308,800
01 AX N B2 LS 2,308,800 2,308,800
OsgdEMEg & 2,308,800
dHASAE(21) 2,812,000 350,026 2,461,974
Jl 2,812,000
308 AFAIEHMSOIE 2,812,000 350,026 2,461,974
Jl 2,812,000
01 MRHHBAEES 2,812,000 350,026 2,461,974
OdHHN=NES 2,812,000
) 2,812,000
MRS AASHRIR (X (21) 124,000 0 124,000
= 100,000
[ 24,000
403 MR HHMSAHE01H 124,000 0 124,000
= 100,000
= 24,000
01 MHXIHHA 222 124,000 0 124,000
ONHAS AT (ZAF) 124,000
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FA HetE sy
M ASRSAMRAT D(SUHLL M/ S
celr =S dabet x4 (Gt M)
SA - ZE - BR(3) - HRA - B of v e HIDE2
= 100,000
=S 24,000
VAR DT =S YA A2 LY ESFSON 379,064 379,064 0
)
307 el2to| & 379,064 379,064
02 2B YA HE A 379,064 379,064
ODHXIZA +=ZHH ALY 379,064
SXAADIBIR = (=) 640,000 0 640,000
Jl 640,000
403 AXIEHMSAH=0l1d 640,000 0 640,000
) 640,000
01 AR A =2 £ 640,000 0 640,000
OR+=SESAEaIE 640,000
Il 640,000
stagory & 8,600,000 8,610,000 10,000
308 AHXIHMSO0IA 8,600,000 8,600,000 0
01 AXENBSEES 8,600,000 8,600,000 0
Ogrgt =AM X 8,600,000
2= & A0t 3,294,468 5,556,090 A2,261,622
= 521,840
S 2,772,628
SIH S - 2l 2,541,850 2,264,100 277,750
202 04dl 3,000 3,600 2600
01 =LHOHI 3,000 3,600 A600
Os2IIAe & ASHE =X 3,000
308 AtXIEHMSOIE 1,890,000 1,980,000 /90,000
01 XN B EERS 1,890,000 1,980,000 290,000
OgU=sIIA *=cl2aEtl XA 90,000
SUE HAS 22dl A& 1,800,000
403 X SHHMSAH=01H 648,850 280,500 368,350
01 AXISHHA 22 £ 648,850 280,500 368,350
OsJIA SUAE X2 383,400
OsJIH 22& 0 4X 102,500
od=Ed SIIAH X 162,950
S SSHER 2N (=1) 33,118 66,990 133,872
= 22,840
s 10,278
308 XHXIEMSOIE 33,118 66,990 N33,872
= 22,840
< 10,278
01 XN B2 LS 33,118 66,990 A33,872
OsINH SEEX RN 33,118
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FA HetE sy
A ARNSAMRND(SYHYSL /52 - 5E)
el sEJAe & 450t EEERSED
S - BB - BRI(EH) - AIRAY - BES of v e HIDE2
= 22,840
=S 10,278
FAXL2IA 5 sIIA X3 (=1) 150,000 1,050,000 900,000
= 100,000
[ 50,000
403 MR EHSAHE01H 150,000 1,050,000 /900,000
= 100,000
= 50,000
01 AXISHA=2 22X 150,000 1,060,000 A900,000
OF ML 2IH S sI1H A& 150,000
= 100,000
= 50,000
L2 SO 0IMEX M2X&(=1) 188,500 0 188,500
= 145,000
== 43,500
308 AXIHSOIA 188,500 0 188,500
= 145,000
< 43,500
01 HAHHBAEEXS 188,500 0 188,500
o= =2JIH OIMSX MNE X 188,500
= 145,000
= 43,500
CE2ESIIH HHXIR(=22) 381,000 300,000 81,000
= 254,000
=S 127,000
403 X SHHMSAH=01H 381,000 300,000 81,000
= 254,000
< 127,000
01 A= 2L 381,000 300,000 81,000
C2sI1H WAHIXE 381,000
= 254,000
S 127,000
sges Xd 1,557,460 910,460 647,000
= 1,120,000
= 437,460
sgod R 397,460 443,460 246,000
201 er2 3| 20,000 20,000 0
01 At2teltl 20,000 20,000 0
O=sgeldd XNAHE 22 20,000
202 04l 3,960 3,960
01 =LHOHI 3,960 3,960
OsgoE X2 gRFA 3,960

- 616 -




FA HetE sy
A ARNSAMRD(STHYSL /52 - 5E)
el sgey X EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
308 XXM SOIA 270,000 316,000 246,000
01 XN BELES 270,000 316,000 246,000
OLl=e 22X 22#E M 270,000
403 MR HHSAHE01H 103,500 103,500
01 MHXIHHA 22 103,500 103,500
0LI=e 22X =4 XN 103,500
sENEHEIA(=1) 1,160,000 467,000 693,000
= 1,120,000
= 40,000
307 212+01& 80,000 0 80,000
= 40,000
=S 40,000
02 2IHB A E X 80,000 0 80,000
O=ZHESMUH(AMTE) 80,000
= 40,000
< 40,000
308 AFXIEMSOIE 1,080,000 467,000 613,000
= 1,080,000
01 XN B2 LS 1,080,000 467,000 613,000
O=ZHESMUEH(sEE) 480,000
= 480,000
O=ZEHESMUH(BSE) 600,000
= 600,000
S| T (ML /=Y - sE 36,006,842 31,072,147 4,934,695
= 12,300,000
< 23,706,842
AN S+SSHA 2E 13,537,000 11,266,900 2,270,100
= 12,300,000
S 1,237,000
SYdaIE Fh| 1,119,500 829,400 290,100
202 O4H| 8,500 8,400 100
01 2| 8,500 8,400 100
O=gdLI8t ZHI 8,500
403 THXISHMSAH=01H 1,111,000 821,000 290,000
01 AR A =2 £ 1,111,000 821,000 290,000
O ZHIAY 1,111,000
JtS0iHl S 80,000 100,000 220,000
403 AXIEHMSAH=0l 80,000 100,000 /20,000
01 AXIEHHA 22 % 80,000 100,000 /20,000
Oga= ISt 80,000
Hi==Oh& (= 12) 12,000,000 10,000,000 2,000,000
= 12,000,000
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SN HEBSADL
HE: SoMAD|E T (S5 - 5E)
Ciel: OIEE 2422 & (choy: @2
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
402 QI+ X201 & 9,700,000 7,290,000 2,410,000
= 9,700,000
02 RIINEASEZ(0IETHR) 9,700,000 7,290,000 2,410,000
Obi==H& (01 ™) 9,700,000
= 9,700,000
403 AXIEHMSA=Z0l1d 2,300,000 2,710,000 410,000
= 2,300,000
01 AXISHHA= 2L 2,300,000 2,710,000 A\410,000
OHbH==H¢d (XHAI) 2,300,000
= 2,300,000
JtEHH S (=1) 337,500 337,500 0
= 300,000
== 37,500
403 MR SHHMSAH=01H 337,500 337,500 0
= 300,000
< 37,500
01 A= 2L 337,500 337,500 0
OJtSUbl S0 337,500
= 300,000
= 37,500
SYAAEE FH 22,469,842 19,805,247 2,664,59%
201eh FHHI(HEALY) 8,926,900 11,040,300 A2,113,400
403 TR SHMSAH=01H 8,926,900 11,040,300 A2,113,400
01 AR A =2 £ 8,926,900 11,040,300 22,113,400
O=2 - HAEX| 7 LI|BtEHIAIS (&8 1,032,000
OYHISXI7 &IIEHEHIAIS (T &) 1,397,000
OAUAXIF EIIEHEHIAI (X&) 1,333,000
OZEX 7 LIIHEHIAG (B E) 1,720,000
OsEXXF LIIBHEHIAIG (HE) 467,140
Oalg X+ EIIEHEHIAIY (B &) 803,760
OUII4XI 7 LIS ALY (X &) 420,000
OO0f2| X+ EIIEHEHIAG (R &) 1,539,000
OB Xl EIIEHEHIAIG (B &) 215,000
U—& FXFel(HSAY) 1,122,742 7,869,500 3,253,242
403 AXIEHMSAH=0IA 1,122,742 7,869,500 3,253,242
01 XM= 2L 11,122,742 7,869,500 3,253,242
OJEXF U7& SXFHeIAL(HE) 1,324,400
FSAT U8 BRNEeIAS (HE) 1,398,000
ONE - BEXIT 78 ZREIAS(HE) 1,072,850
OAMZXIF U7& ZREIANS(HE) 606,734
O=JXF U7E IXFeIAS(HE) 2,000,000
OYLHXIF H7& FXFLA (HE) 1,568,858
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SN HEBSADL
A s R (sHllerbsY - sE)
Rl sZda|e ol EER=E)
RA B - SRA(E) - MIRA - BES ol &4 e HIDEY
O32X7T U7E ZRHeIAI(HE) 1,629,700
OQI7X7 =& AXHelAZ (HE) 1,032,000
O X7 & BXELIAS(HE) 137,600
OTHHXIF & ZREHEIAIS(HE) 172,000
OLE2XXF 78 Xl (HE) 180,600
A2 UISIHE (HEAIY) 2,420,200 318,200 2,102,000
403 MRS =01 2,420,200 318,200 2,102,000
01 AXIEtH 22 £ 2,420,200 318,200 2,102,000
OMNEXI T L2722 BH=EIHEAIS (HE) 791,200
OFELXT A72 BHIHAAIS (HE) 129,000
OREXT 472 BHIHAAIS (HE) 1,500,000
Y 2I (2= H ) (JIEHIIE) 37,658 39,537 A1,879
Jl=23sl 37,658 39,537 21,879
FA2E Jl=2H| 37,658 39,537 1,879
201 L= 25,698 27,357 1,659
01 AFS2t2ltl 25,698 27,357 A1,659
FHN2E ARl 25,698
202 044l 8,360 7,980 380
01 =LA LI 8,360 7,980 380
OR A2 =L 8,360
203 R=EH| 3,600 4,200 AB600
M FAZHLRFAI 3,600 4,200 2600
©202! Olat 300,000 122 3,600
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